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for the Board Exams March / April - 2018
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Here is a story about a reed and an oak tree, which tells us not to rely on
streangth. A reed, got into an argument with an oak tree. The oak tree bosted
about its own strength, claiming that it could stand firm even against the stron-
gest wind. Not satisfied with this, She criticized the reed for being weak, since
it swayed even in the lightest breeze. Just then, the wind began to blow very
fiercely. The oka tree was uprooted and toppled over, while the reed was left

bent but unharmed.
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